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Conversions oMg=dl () powers A ® Equations c¥aledl ()
Calculator &=l 431 @ Graph and Relation wBally 3kl @

Important Equation dege wYslae (9

Equations <Yolaadl (D)
Equation with one unknown J=lgJl Jggzell c¥olas [1]

Y-3=7 Y 2.4 2 _3-7 5(2-3) =2
“Y=7+3 2 Y Y
Y =10 §=7+3 ;=? — —15=2
Y 10 2=10Y 10 _17
2 T 2 1 vy o1
sy=20 | “Y=10°% 10=17Y
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Two Equations with tow unknowns J4=/gl (i ggxell c¥olas [2]

wugeill - By Substitution aljuy By Elimination
[ x+3r=6 4) l2x+3v =16 ]
2X +8Y = —12 EX _4Y = —6
X+3Y=6->X=6-3Y 2X +3Y =16 - (x5) » 10X + 15Y = 80
JAIQSHT] 5X —4Y = —6 — (x —2) - —10X + 8Y = 12
2x 8y = —12 10X +15Y = 80  jhyuijh alblenll goy)
2(6—3Y) +8Y = —12 —10X+8Y =12
—6Y +12 + 8Y = —12 23Y =92
2Y = —24 V=4
e 12 2X +3(4) = —12
(X431 =6 X=2
b
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powers oyl ()

-1 Sglwi pan guidab sl =
x=1

- gulll goai aayliinll alwlwill upp albh a6 <

x2 x x3 = x2+3 = 45

- gulll aphai aaybiioll glwlnll dowaadllh b <

7
X
_ ,7-3 _ .4
x—B—x =X
Hei guaell gl plaall hunll go payclipaiaic <
- gudll @yl
i:x_?'
3

- Gl apai golwill guail gl alb a <
(xZ)B — x2><3 — x6
- anuwdll gl gpall dlb a gjgin golll <
(xy)? = x* X y°

VSx V2= (1)
5

(V4)2 = ... (3)

(m.a)? =- (4)
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doleall | joll a9l
10715 | f | femto - giad
10712 | p peco - 9lu
107™° | n nano - g;b
1076 | p | micro- g%
1072 | m | milli- e
1072 | ¢ | centi- (iw
107 | d deci - uuw»
1 - | dawlwdl gl
102 | h | hecto- g
103 | K Kilo - gl.S’
106 | M | Mega-lbuwo
10° | G Giga - bu>
102 | T Tera- o

Conversions<bg=dl

__________________________

DIl

4 )
............. Jal=i dalwnll ada ,5km dalwo éjluw a4 i
5%x1072cm © 5%x1075¢cm ()
5x105¢cm (3 5x10%cm &
3
daalwall =5 x =5x 10°cm
\_ 10_2 J
; 12) JSo N
--------- S9luy km daagy prwall Jgha gla ,3pm glaa prwa Jgh gueldl jlag padiul
3x107° & 3x1073 & 3x103 © 3x10° (4
107°
= pe = X = X m
Jghll =3 o7 =3 107672 =3 x 107%k
\_ Y,
- (3) JL_io; N
......... & MA Gaagy JLill Gaud la 7A @i 1Al jud
7x102 (3 7x10° & 7x108 © 7x103 (O
Lill Gl = 7 % =7x10°
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(al.\ayl on Jgdl 8T el }/

-: gull dcgayo dangll cila 15 @

-+ Ll ggilall Jaih arng <

_—— e e e e e e e e e e e e e e e e e e e e e e e e e e = = = ==

:‘ daagll gul guai E
! lain Jganll Jolen :
v Ll = jlaanll x !
i laul] Jgaall Jalea |
- (4) JU_i» N
- ayilll ailaagll elall pa9 32l (9 m?) ara clall paa gl gljia
Gm® @ cm? @)

3
3
OCLD_||FD__‘I=9X(101_2) =9x(102) =9x 10° cm3
1y —9\3 —27
9gLnJ|p3_3=9x(_9) =9x(107°) =9x10™" cm?
N 10 y,
e d\_io <
-: @il alaagll laialwn aagi (1200 Km?) laialwn )i dehd
nm® @ um® @
3

2
dalwall = 1200 x — 1200 x (10%)% = 1200 x 108 = 12 x 102°um?
(1 u

10-¢
3

2
© dalwanll = 1200 x (10_9) = 1200 x (10'?)2 = 1200 x 10%* = 12 x 10%°nm?
. J
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- auilll uloell Qili 22gi

1.5m+ 140 cm

10

T =14m

— ailill =1.5+14=29m

= 140 cm = 140 X

A e
= 15m=15X——==150cm
10
= ailill =150 + 140 = 290 cm
\. J/
i e dsolol (g€
X60 x60 | . .
b 9.9) delw S Jai doxainuoll J\gaill (1o dcgao (e ojuc yub
dugall dadyyhl Jil elbhaa vdce aaioi 6o10io Jsuuwo o
x10~10

yio A poyiwnl

- @) R

-3 - - - -
350 S ) Jhéo (L6 58km/hr ojhdo dcyw Sigill Jga ey Jggisl
Jdcpull
oS m/min @ m/s @
s ~al
Km/h—— m/s 5
1]58 x—=16.1m/s
18
kg/m3® 1073 cm?3 1000 _ i
g/ N g/ 2] 58 x —o— = 966.67 m/min
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Sk b b a9l @
6! =--(2) 50 =...(
[3]2 =..(@) [32]3 = --(3)
2_:: ® 32 x 33 = --(5)
i el sl LW e¥abadl J> @)
8:% 2[5+r]=12()
2[5+Y] =Y +2(4) %zg@

& dso 9o did Bolo Ll (po Oiliue a:uj)’ dioeid) OHhal> 18,5 Jgdd| z29 ((J9l)gd 2022 qa0) e

CObundl 00 Byly> Ayl zusuall Al g s AW CohlasYl 6l ddakize §)ly> il Lis

Lall § imtdl OMol> 83 | @)z | Al
1.6x1016 m =3 Tw w
1.5x10 cm™3 Tx X
1.6x10%5 m=3 Ty Y
1.5x10° cm™—3 Ty Z
Ty >Tyw>T, >Ty © Tw > Ty > Ty > T, )
Ty > T; > Ty > Tx & T, > Ty > Ty > Ty &

oo

01001801393




Lol &bl ) Aokl

Graph and Relation &BMally 3Ll @
LuSall 351 €) Ll B @ ERRNFEYNTN 1 )
490l 510 L 1 33501 @) Ladldl 851 @)

bl 2950 > Y — mX + C +— CJU;_}.uJ‘ )WOA&M‘ s_)?,J‘
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ol Sl jgoe
aykall 28501 @)
Y, Y =mX
dull = tan® = m Ol e 3L JI
> X
A < <
¢ Juo ASI o
B
> X
o ‘..- ‘ e o0 ‘
v RO 2 )
/ Y =mX+C
C
. x Jull = tan@® = m ol e 3L M
VA
% G=
C
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Calculator 4wl U1 ©)
a9l Jggamall 13 Clslaedl o 3 Nolaall Jood dnulod! AV pliseinsl oSy S
2X+3 =16

2 |ALPHA m +3|ALPHA| |CALC l 16

lSHIF! CLAC| =
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Important Equation 4ege &Yolas (9

abz cxXy
C=— =7
o xy_)a bz
X Xz
Qz=7
Z
a
b_2@a
ec_bc
a+b+c a b c
=—4+—+=
6 y y y y
abc b c ab—c bc
6 = — not *
xye Xy xy+a xy

O (a+b)?=a*+a*+2ab - not # a* + b?

@ /(a+b)?=+(a+h)

a ¢ (ab*xbo)
— = - 7
@ b d bd
. Sinf = d'!__LQ'OJI
S JigJl
] ,
E Cos 6 = Jq[__a'-oJ
Hall
5]
Sl tan 0 = o]
Jolooll
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